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And one who drinks impure liquids - DIRRY PP TN

Overview

The 7awn states that one who drinks 2°Rnv PPWwH is 72170 2010, Our MdOIN explains
why by 1Pwn he does not mention *31 WX as he did by 9218, and why the need to
mention both 1°901R1 Ppwn.

Mmoo responds to an anticipated difficulty:
= 1990 AYHN PPYN OLIYDT Y PYNI 1N TV ND

The term 12 172X9 does not apply to 7°pwn for 9pwn which come in contact with
XMW are always a beginning (meaning a axmw? PWKRI).

mooIn responds to another anticipated difficulty:
=P MY ONYTA NN DIPN U1 29102 WHINRY 13 9T XD ININT ) Yy 9N

Even though that as of yet (when this 71wn was taught) it was not yet decreed that
1Pwn are always a 11onn, as I will explain shortly (so at this point there was Ppwn
11 RN, why therefore were they not mentioned), nevertheless it was their intent

to make this decree immediately, so there was no reason to mention 121 PWX, since very
shortly there would be no " ppwn.

mooIn responds to an anticipated question:
= YOV NI PPYNT 77 39902 9INRTI PIINY PPYN 19YNYND NI

And it was necessary to let us know both by PR»v 199981 PP that whoever eats
or drinks them is 77217077 PR 019, and we could not derive them from each other. We
cannot derive Ppwn from P22IX as the X713 states shortly that this concern by Ppw»

is not common -
1999 H>09 XY Y2IN YaAN 9Y0INT PPYN XPIT XN TN PPN N ON)

! The mawn in 1" n"p 779 states, 7900 NP2 PRWRI DY XpLn 71700 N¥ 29197 22. This means that (even) if a aRHW? 1w
(which is 7m17n 5010) touches Ppwn, the 1Pwn become a IRMV? MWK, There can never therefore be ARMV? "W 1pPWAH.
2 See 2pun A7 X, '0n and ('R7) ®9R 7"70 3,7
3 %,7. The X7 there explains the reason why 180 P22IX 921X and PRAY PPwn AMW are 717N 2010, because we are
concerned that he will be eating 1°%1v 129R and while he has the 1810 1°223 in his mouth he will drink Ppwn of 7m0
and will be 501 the 0. The same concern is by 1°Xnv Ppwn that he will be drinking them and while the 1°pwn is in
his mouth he will eat 1923 of 72110, However the X7n3 there says that by 1"&nv 1pwn it is not that common to eat
(7m1n) while drinking (1°8nv 1pwn), therefore even after we are N3 by 1RaY 1221 where the wwn is common, I would
not know that the same 717°12 should apply to 1"Xnv Ppwn since the wwn is not Ow. We see from that X that we
cannot derive 1"8nv Ppwn from 122, See ‘Thinking it over’.
4 ppwn do not require W27 to be ARMW 9apn, while PPN are not XML 2pn unless they were first ax™L 22p% WM
by being in contact with one of the seven 1°"pwn which are 17918 9°won to be aRmw 22pn.
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And if the mw» would teach that XY PPpwn are 72170 2010 1 would say, only
PPwn are 12170 Y019, for the rules regarding Ppwin are severe, however by Xnv %218

he is not 77170 921 at all, therefore the mwn teaches that both one who eats or drinks 179918
TRV TPWN IS 1N YD,

Summary
When they were 213 that PRav PPwn 7N is 7170 201 they also intended to be i

immediately that Ppwn is always a "w&1. We could not know 1pwn from 19218 and
vice versa because Ppwn is oW XY and 7°pwn are more M0 than PYOIN.

Thinking it over

Moo explains why we cannot derive 1pwn from 1P92R (because 2w X2 1pwn) and
oo from pPpwn (because ™Mnn Ppwn).> However based on what 'oin taught us
previously (721% 71"7),° we (seemingly) did not need to use the idea of oW X? to
explain why 1pwn needs to be stated, but rather we could have said that since 7"pwn
are ", so if the mawn would not state 7°pwn we would have thought that pwn are
even ;71N Xnun (not only H019)!7

> See footnote # 3.
¢ nooin there stated that if it would only say "w 9318 we might have thought that WX 92X is even 7m0 Xnava.
7 See 0" and (T1IRA) R"wAA.
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